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Addition and Subtraction Word Problems

Write subtraction or addition sentence for each word problem. Solve the problem and write the

correct answer in the box.

There are 7 blue pens and 5 red pens 

in Michael’s pencil box. How many 

pens are there in all?

Sabrina bought 12 eggs. 4 eggs in the 

tray were broken. How many eggs in 

the tray were not broken?

Nikki and Monique went shopping. 

Nikki bought 5 t - shirts. Monique 

bought 4 t - shirts. How many t - shirts 

did they buy in all?

Natalia bought 9 books from the 

school book fair. She gave 4 picture 

books to her sister. How many chapter 

books did she buy for herself? 

Challenge question:

There are 2 science, 4 math, and 6 
history notebooks in my backpack. 

How many total notebooks are there in 

my backpack?

--------------------------------

--------------------------------

--------------------------------

--------------------------------

--------------------------------



© Copyright. BigLearners.com 2014. All rights reserved.

Addition and Subtraction Word Problems

Write subtraction or addition sentence for each word problem. Solve the problem and write the 

correct answer in the box.

There are 7 blue pens and 5 red pens 

in Michael’s pencil box. How many 

pens are there in all?

Sabrina bought 12 eggs. 4 eggs in the 

tray were broken. How many eggs in 

the tray were not broken?

Nikki and Monique went shopping. 

Nikki bought 5 t - shirts. Monique 

bought 4 t - shirts. How many t - shirts 

did they buy in all?

Natalia bought 9 books from the 

school book fair. She gave 4 picture 

books to her sister. How many chapter 

books did she buy for herself? 

Challenge question:

There are 2 science, 4 math, and 6 
history notebooks in my backpack. 

How many total notebooks are there in 

my backpack?

--------------------------------

--------------------------------

--------------------------------

--------------------------------

--------------------------------

Answer Key

7 + 5 = 12

12 – 4 = 8

5 + 4 = 9

9 – 4 = 5

2 + 4 + 6 = 12 




